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1. Do not open the booklet unless you are 

asked to do so. 

 1. iz’u&iqfLrdk dks rc rd u [kksysa tc rd vkils dgk 

u tk,A 

2. The booklet contains 60 questions. 

Examinee is required to answer any 50 

questions in the OMR Answer-Sheet 

provided and not in the question booklet. If 

more than 50 questions are attempted by 

student, then the first attempted 50 

questions will be considered for evaluation. 

All questions carry equal marks. 

 2. iz’u&iqfLrdk esa 60 iz’u gSaA ijh{kkFkhZ dks fdUgha  

50 iz’uksa dks dsoy nh xbZ OMR vkUlj&’khV ij gh 

gy djuk gS  iz’u&iqfLrdk ij ughaA ;fn Nk= }kjk 

50 ls vf/kd iz’uksa dks gy fd;k tkrk gS rks izkjfEHkd 

gy fd;s gq, 50 mŸkjksa dks gh ewY;kadu gsrq lfEefyr 

fd;k tk,xkA lHkh iz’uksa ds vad leku gSaA 

3. Examine the Booklet and the OMR Answer-

Sheet very carefully before you proceed. 

Faulty question booklet due to missing or 

duplicate pages/questions or having any 

other discrepancy should be got 

immediately replaced. 

 3. iz’uksa ds mŸkj vafdr djus ls iwoZ iz’u&iqfLrdk rFkk 

OMR vkUlj&’khV dks lko/kkuhiwoZd ns[k ysaA nks”kiw.kZ 

iz’u&iqfLrdk ftlesa dqN Hkkx Nius ls NwV x, gksa ;k 

iz’u ,d ls vf/kd ckj Ni x, gksa ;k mlesa fdlh 

vU; izdkj dh deh gks  rks mls rqjUr cny ysaA 
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1. fuEufyf[kr esa ls dkSu&lk ck;ksfMxzsMscy 

iznw”k.kd gS \ 

 
1. Which of the following is biodegradable 

pollutant ? 

(A) Mh- Mh- Vh-  (A) DDT 

(B) IykfLVd  (B)  Plastic 

(C) lhost  (C)  Sewage 

(D) mi;qZDRk esa ls dksbZ ugha  (D)  None of the above 

2. uhy&gfjr ‘kSoky }kjk /kku ds [ksr esa izfr 

gsDVs;j ukbVªkstu dh fdruh ek=k tksM+ ldrs 

gSa \ 

 
2. Blue-green algae can add upto what 

quantity  of nitrogen per hectare to a rice 

field ? 

(A) 30 35 fdxzk-@gs-  (A) 30–35 kg/ha. 

(B) 25&30 fdxzk-@gs-  (B)  25–30 kg/ha. 

(C) 20&25 fdxzk-@gs-  (C)  20–25 kg/ha. 

(D) 10&15 fdxzk-@gs-  (D)  10–15 kg/ha. 

3. ok;q iznw”k.k m|ksx gSa % 
 

3. Air pollution industries are : 

(A) fcanq lzksr  (A) Point sources 

(B) {ks= lzksr  (B)  Area sources 

(C) ykbu lzksr  (C)  Line sources 

(D) mi;qZDr lHkh  (D)  All of the above 
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4. xzhu gkml xSl esa ‘kkfey gS % 
 

4. Green house gas include : 

(A) CH4  (A) CH4 

(B)  N2O  (B)  N2O 

(C)  CO2  (C)  CO2 

(D) mi;qZDr lHkh  (D)  All of the above 

5. dkSu&lh xzhu gkml xSl lcls vf/kd ek=k esa 

ik;h tkrh gS \ 

 
5. Which is the most abundantly found 

green house gas ? 

(A) ehFksu  (A) Methane 

(B) ty ok”i  (B)  Water vapour 

(C) dkcZu MkbZvkWDlkbM  (C)  Carbon dioxide 

(D) mi;qZDr lHkh  (D)  All of the above 

6. ekuo ‘kjhj esa Mh- Mh- Vh- dh lkanzrk c<+ tkrh 

gS D;ksafd ;g ?kqyu’khy gksrk gS % 

 
6. DDT concentration increases in the 

human body because it is soluble in : 

(A) izksVhu esa  (A) Protein 

(B) olk esa  (B)  Fat 

(C) foVkfeu esa  (C)  Vitamins 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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7. vEy o”kkZ 
------------------

 ds vkWDlkbMksa ds dkj.k gksrh 

gSA 

 
7. Acid rain is caused by oxides of ............. 

(A) lYQj vkSj ukbVªkstu  (A) Sulphur and Nitrogen 

(B) ukbVªkstu vkSj dkcZu  (B)  Nitrogen and Carbon 

(C) lYQj vkSj ukbVªkstu  (C)  Sulphur and Nitrogen 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

8. fdl rkieku esa feêh dk fodkl /khjs&/khjs gksrk 

gS \ 

 
8. In which temperature soil develops 

slowly ? 

(A) ‘khr  (A) Cold 

(B) xehZ  (B)  Summer 

(C) cjlkr  (C)  Rainy 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

9. iznwf”kr ikuh dks fdlds }kjk ‘kq) fd;k tk 

ldrk gS \ 

 
9. Polluted water can be purified by using : 

(A) ‘kSoky  (A) Algae 

(B) dhVuk’kd  (B)  Pesticides 

(C) lw{etho  (C)  Micro-organisms 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

10. ikS/kksa dks iks”kd rRo izkIr gksrs gSa % 
 

10. Plants receive nutrients from : 

(A) izdk’k ls  (A) Light 

(B) okrkoj.k ls  (B)  Atmosphere 

(C) e`nk ls  (C)  Soil 

(D) mi;qZDr lHkh  (D)  All of the above 
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11. lYQj vkSj ukbVªkstu ds vkWDlkbM egRoiw.kZ 

iznw”kd gSa % 

 
11. Oxides of sulphur and nitrogen are 

important pollutants of : 

(A) ok;q ds  (A) Air 

(B) e`nk ds  (B)  Soil 

(C) ty ds  (C)  Water 

(D) mi;qZDr lHkh  (D)  All of the above 

12. e`nk lw{etho lcls vf/kd lfØ; gksrs gSa % 
 

12. Soil microorganisms are most active at : 

(A) 40 45 fMxzh lsfY’k;l ij  (A) 40–45°C 

(B) 20&25 fMxzh lsfY’k;l ij  (B)  20–25°C 

(C) 10&15 fMxzh lsfY’k;l ij  (C)  10–15°C 

(D) 34&36 fMxzh lsfYl;l  (D)  34–36°C 

13. tSfod vkWDlhtu ek¡x ijh{k.k fdldks ekius 

ds fy, fd;k tkrk gS \ 

 
13. Biological oxygen demand test is made 

for measuring : 

(A) e`nk iznw”k.k  (A) Soil pollution 

(B) /ofu iznw”k.k  (B)  Noise pollution 

(C) ty iznw”k.k  (C)  Water pollution 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

14. fuEufyf[kr esa ls dkSu&lk ikni gkWeksZu  

fodkl dks jksdrk gS \ 

 
14. Which of the following plant hormones 

inhibits growth ? 

(A) vkWfDtu  (A) Auxins 

(B) ftcjsfyUl  (B)  Gibberellins 

(C) ,fClfld ,flM  (C)  Abscissic acid 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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15. Xykscy okfeZx fdl dkj.k ls gksrh gS \ 
 

15. Global warming is caused by : 

(A) gkbMªkstu  (A) Hydrogen 

(B) ehFksu  (B)  Methane 

(C) xzhu gkml xSlsa  (C)  Green house gases 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

16. lw;Z ls i`Foh ij fdrus izfr’kr ÅtkZ 

vo’kksf”kr gksrh gS \ 

 
16. How much percent of energy is absorbed 

from the Sun to Earth ? 

(A) 75%  (A) 75% 

(B)  25%  (B)  25% 

(C)  50%  (C)  50% 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

17. lqnwj laosnu mixzg dks tkuk tkrk gS % 
 

17. Remote sensing satellite is known as : 

(A) /kzqoh; mixzg  (A) Polar satellite 

(B) lw;Z&rqY;dkfyd mixzg  (B)  Sun-synchronous satellite 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

18. ty iznw”k.k dk dkj.k gS % 
 

18. Reason of water pollution is : 

(A) dhVuk’kd  (A) Pesticides 

(B) tula[;k o`f)  (B)  Population growth 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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19. lhost ds ikuh dks fdl fØ;k }kjk iqupZØ.k 

ds fy, ‘kq) fd;k tk ldrk gS \ 

 
19. Sewage water can be purified for 

recycling with the action of : 

(A) eNyh  (A) Fishes 

(B) tyh; ikS/ks  (B)  Aquatic plants 

(C) lw{etho  (C)  Micro-organisms 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

20. fuEufyf[kr esa ls dkSu&lk ,d dhVuk’kd ugha  

gS \ 

 
20. Which of the following is not a  

pesticide ? 

(A) Mh- Mh- Vh-  (A) D. D. T. 

(B) ch- ,p- lh-  (B)  B. H. C. 

(C) ,QsfMªu  (C)  Ephedrine 

(D) mi;qZDRk esa ls dksbZ ugha  (D)  None of the above 

21. fo’o dk lcls izfl) dhVuk’kd gS % 
 

21. The most famous pesticide of the world  

is : 

(A) f¶yV  (A) Flit 

(B) ch- ,p- lh-  (B)  BHC 

(C) Mh- Mh- Vh-  (C)  DDT 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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22. dkSu&lk iznw”kd leqnzh iznw”k.k dk izeq[k lzksr  

gS \ 

 
22. Which pollutant is the major source of 

marine pollution ? 

(A) lhost  (A) Sewage 

(B) vkS|ksfxd vif’k”V ty  (B)  Industrial waste water 

(C) d`f”k viokg  (C)  Agricultural runoff 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

23. fuEufyf[kr esa ls dkSu&lk ,d ty iznw”k.k 

dkjd gS \ 

 
23. Which of the following is a water 

polluting factor ? 

(A) veksfu;k  (A) Ammonia 

(B) fMVts±V  (B)  Detergent 

(C) vkS|ksfxd vif’k”V  (C)  Industrial waste 

(D) mi;qZDr lHkh  (D)  All of the above 

24. O;kolkf;d :i ls mi;ksx fd;k tkus okyk 

igyk tSfod dhVuk’kd Fkk % 

 
24. The first organic pesticide to be used 

commercially was : 

(A) 2] 4&Mh  (A) 2, 4-D 

(B) cksMksZ feJ.k  (B)  Bordeaux mixture 

(C) Mh- Mh- Vh-  (C)  DDT 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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25. ty iznw”k.k dh leL;k dks loZizFke fdlus 

igpkuk \ 

 
25. Who was the first to recognise the 

problem of water pollution ? 

(A) FksYl  (A) Thales 

(B) FkkWelu  (B)  Thomson 

(C) fgIiksØsV~l  (C)  Hippocrates 

(D) mi;qZDRk esa ls dksbZ ugha  (D)  None of the above 

26. 2] 4&Mh ,d gS % 
 

26. 2] 4-D is a : 

(A) o`f) fu;ked  (A) Growth regulators 

(B) [kjirokjuk’kh  (B)  Weedicide 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

27. fuEufyf[kr esa ls dkSu&lh /kkrq ty iznw”kd gS 

vkSj euq”; esa ck¡>iu dk dkj.k curh gS \ 

 
27. Which of the following metals is a water 

pollutant and causes sterility in human 

being ?  

(A) Hg  (A) Hg 

(B)  Mg  (B)  Mg 

(C)  As  (C)  As 

(D)  Mn  (D)  Mn 
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28. dhVksa vkSj jksxksa ds dkj.k d`f”k mRikndrk esa 

gkfu gksrh gS % 

 
28. Loss of agricultural productivity due to 

pests and diseases is : 

(A) 5%  (A) 5% 

(B)  10%  (B)  10% 

(C)  15%  (C)  15% 

(D)  30%  (D)  30% 

29. fuEufyf[kr esa ls fdl rjaxnS?;Z dk iz;ksx 

lkekU;r% lqnwj laosnu esa fd;k tkrk gS \ 

 
29. Which of the following wavelengths  

is normally used in remote  

sensing ? 

(A) vojDr ds ikl  (A) Near infrared 

(B) n`’;eku  (B)  Visible 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

30. fuEufyf[kr esa ls dkSu&lk Hkkjrh;ksa esa [kjkc 

LokLF; dk izeq[k dkj.k gS \ 

 
30. Which of the following is the major cause 

of poor health in Indians ? 

(A) e`nk iznw”k.k  (A) Soil pollution 

(B) ok;q iznw”k.k  (B)  Air pollution 

(C) ty iznw”k.k  (C)  Water pollution 

(D) mi;qZDr lHkh  (D)  All of the above 
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31. ok;q iznw”k.k fdlds dkj.k ugha gksrk gS \ 
 

31. Air pollution is not caused by : 

(A) gkbMªksbysfDVªd ikWoj  (A) Hydroelectric power 

(B) m|ksx  (B)  Industries 

(C) ijkxd.k  (C)  Pollengrains 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

32. fuEufyf[kr esa ls dkSu&lk@ls e`nk iznw”k.k 

dk@ds lzksr gS@gSa \ 

 
32. Which of the following is/are the 

source(s) of social pollution ? 

(A) vif’k”V vkSj lhost  (A) Effluent and sewage  

(B) jklk;fud moZjd  (B)  Chemical fertilizers 

(C) dhVuk’kd  (C)  Pesticides 

(D) mi;qZDr lHkh  (D)  All of the above 

33. fuEufyf[kr esa ls dkSu&lh ,d xzhu gkml xSl  

gS \ 

 
33. Which of the following is a Green house 

gas ? 

(A) vkWDlhtu  (A) Oxygen 

(B) ukbVªl vkWDlkbM  (B)  Nitrous oxide 

(C) gkbMªkstu  (C)  Hydrogen 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

34. fuEufyf[kr esa ls dkSu dkcZu ds fy, ,d 

flad gS \ 

 
34. Which of the following is a sink for 

carbon ? 

(A) iqjkus rsy {ks=  (A) Old oil fields 

(B) vknzZHkwfe  (B)  Wetlands 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) mi;qZDRk esa ls dksbZ ugha  (D)  None of the above 
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35. iznw”kdksa ds f[kYkkQ j{kk dh igyh iafDr 

fdlds }kjk iznku dh tkrh gS \ 

 
35. The first line of defense against pollutant 

is imparted by :  

(A) ok;q  (A) Air 

(B) ty  (B)  Water 

(C) e`nk  (C)  Soil 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

36. d`f”k jlk;u fu:fir djrk gS % 
 

36. Agricultural Chemical denotes : 

(A) moZjdksa dks  (A) Fertilizers 

(B) dhVuk’kdksa dk  (B)  Pesticides 

(C) o`f) fu;kedksa dks  (C)  Growth regulators 

(D) mi;qZDr lHkh  (D)  All of the above 

37. dkcZu eksuksvkWDlkbM fdldk izeq[k iznw”kd  

gS \ 

 
37. Carbon monoxide is a major pollutant of : 

(A) ok;q  (A) Air 

(B) e`nk  (B)  Soil 

(C) ty  (C)  Water 

(D) mi;qZDr ls dksbZ ugha  (D)  None of the above 

38. lokZf/kd gkfudkjd iznw”kd gS % 
 

38. Most harmful pollutant is : 

(A) SO2  (A) SO2 

(B) SO3  (B) SO3 

(C) CO3  (C) CO3 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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39. e`nk iznw”kdksa dh xfr’khyrk dks fdlds }kjk 

fu;af=r djrh gS \ 

 
39. Soils check the mobility of pollutants by : 

(A) lks[kuk  (A) Sorption 

(B) tSfod fxjkoV  (B)  Biological degradation 

(C) jklk;fud fxjkoV  (C)  Chemical degradation 

(D) mi;qZDr lHkh  (D)  All of the above 

40. Hkkjr esa mi;ksx fd;k tkus okyk lcls vke 

dhVuk’kd gS % 

 
40. The most common pesticide used in India 

is : 

(A) csxksu  (A) Baygon 

(B) Mh- Mh- Vh-  (B)  DDT 

(C) ch- ,p- lh-  (C)  BHC 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

41. ok;q iznw”k.k ds izHkko vkerkSj ij ik;s tkrs  

gSa % 

 
41. Air pollution effects are usually found  

on : 

(A) ifŸk;ksa ij  (A) Leaves 

(B) tM+ksa ij  (B)  Roots 

(C) ruksa ij  (C)  Stems 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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42. ok;q xq.koŸkk ladsrd gS % 
 

42. Air quality indicator is : 

(A) ykbdsu  (A) Lichen 

(B) ekWl  (B)  Moss 

(C) ‘kSoky  (C)  Algae 

(D) mi;qZDr lHkh  (D)  All of the above 

43. n{krk ds ekeys esa ;g lcls ‘kfDr’kkyh xzhu 

gkml xSl gS % 

 
43. This is the most potent green house gas in 

terms of efficiency : 

(A) CH4  (A) CH4 

(B)  C2O  (B)  C2O 

(C)  CFC  (C)  CFC 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

44. ikS/ks vk/kkfjr dhVuk’kd gS@gSa % 
 

44. Plant based pesticides is/are : 

(A) fudksVhu  (A) Nicotene 

(B) uhe dk rsy  (B)  Neem oil 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

45. fuEufyf[kr esa ls fdl xSl dk Xykscy okfe±x 

esa lokZf/kd ;ksxnku gS \ 

 
45. Which of the following gases has the 

highest contribution to global warming ? 

(A) ehFksu  (A) Methane 

(B) ukbVªl vkWDlkbM  (B)  Nitrous oxide 

(C) dkcZu MkbZvkWDlkbM  (C)  Carbon dioxide 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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46. xzhu gkml izHkko ds fy, fuEufyf[kr esa ls 

dkSu&lh xSl ftEesnkj gS \  

 
46. Which of the following gases is 

responsible for Green house effect ? 

(A) NO2  (A) NO2 

(B)  CO2  (B)  CO2 

(C)  O2  (C)  O2 

(D) mi;qZDr lHkh  (D)  All of the above 

47. Mh- Mh- Vh- dk fNM+dko Qlyksa ij 
----------------------

iznw”k.k iSnk djrk gSA 

 
47. Spraying of D. D. T. on crops produces 

pollution of .................... 

(A) ok;q] feêh vkSj ikuh  (A) Air, Soil and Water 

(B) dsoy ok;q vkSj feêh  (B)  Air and Soil only 

(C) dsoy ok;q vkSj ty  (C)  Air and Water only 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

48. dhVuk’kd moZjd fdl iznw”k.k dk dkj.k 

curk gS \ 

 
48. Pesticide fertilizer causes which  

pollution ? 

(A) e`nk iznw”k.k  (A) Soil pollution 

(B) ty iznw”k.k  (B)  Water pollution 

(C) ok;q iznw”k.k  (C)  Air pollution 

(D) mi;qZDr lHkh  (D)  All of the above 
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49. fuEufyf[kr esa ls ,d ty vkSj e`nk iznw”k.k 

dk eq[; lzksr gS % 

 
49. One of the following is the chief source 

of water and soil pollution : 

(A) [kuu  (A) Mining 

(B) FkeZy ikWoj LVs’ku  (B)  Thermal power stations 

(C) d`f”k m|ksx  (C)  Agro-industry 

(D) mi;qZDr lHkh  (D)  All of the above 

50. cksMksZ feJ.k gS % 
 

50. Bordeaux mixture is : 

(A) ,.Vhck;ksfVd  (A) Antibiotic 

(B) vkWxsZuksQkWLQsV  (B)  Organophosphate 

(C) vdkcZfud doduk’kh  (C)  Inorganic fungicide 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

51. fuEufyf[kr esa ls dkSu&lk iznw”kd ugha gS \ 
 

51. Which of the following is not a  

pollutant ? 

(A) dkcZu MkbZvkWDlkbM  (A) Carbon dioxide 

(B) lYQj MkbZvkWDlkbM  (B)  Sulphur dioxide 

(C) dkcZu eksuksvkWDlkbM  (C)  Carbon mono-oxide 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

52. fuEufyf[kr esa ls dkSu&lk lqnwj laosnu 

vuqiz;ksx dk ,d {ks= gS \ 

 
52. Which of the following is an area of 

remote sensing application ? 

(A) ekufp=.k vkSj ty lalk/ku  (A) Mapping and water resources 

(B) tux.kuk  (B)  Census 

(C) vaMk mRiknu  (C)  Egg production 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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53. fuEufyf[kr esa ls dkSu&lk ,d izeq[k iznw”kd 

ugha gS tks e`nk iznw”k.k dk dkj.k curk gS \ 

 
53. Which of the following is not a major 

pollutant which causes soil pollution ? 

(A) [kfut rsy  (A) Mineral oil 

(B) Hkkjh /kkrq  (B)  Heavy metal 

(C) ukbVªkstu vkWDlkbM  (C)  Nitrogen oxides 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

54. fuEufyf[kr esa ls dkSu&lh xzhu gkml xSl 

ugha gS \ 

 
54. Which of the following is not a green 

house gas ? 

(A) 2
N O    (A) 2

N O   

(B)  2
C O    (B)  2

C O   

(C)  2
S O    (C)  2

S O   

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

55. QksVksdSfedy LekWx dk laca/k fdl iznw”k.k ls 

gS \ 

 
55. Photochemical smog is related to the 

pollution of : 

(A) ok;q  (A) Air 

(B) e`nk  (B)  Soil 

(C) ty  (C)  Water 

(D) mi;qZDr lHkh  (D)  All of the above 

56. Hkkjr esa vEyh; o”kkZ bl dkj.k ls lkekU; 

ugha gS % 

 
56. Acidic rains are not common in India due 

to : 

(A) gok esa /kwy  (A) Dust in air 

(B) xzkeh.k {ks=ksa  (B)  Rural areas 

(C) gok esa de 2
S O    (C)  Less SO2 in air 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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57. e`nk dkcZfud inkFkZ ,d vPNk ladsrd gS % 
 

57. Soil organic matter is a good indicator of : 

(A) jklk;fud LokLF; dk  (A) Chemical health 

(B) tSfod LokLF; dk  (B)  Biological health 

(C) ‘kkjhfjd LokLF; dk  (C)  Physical health 

(D) mi;qZDr lHkh  (D)  All of the above 

58. fuEufyf[kr esa ls dkSu ,d eqDr thfor 

,jksfcd ukbVªkstu fQfDalx cSDVhfj;k gS \ 

 
58. Which one among the following is a free 

living aerobic nitrogen fixing bacteria ? 

(A) jkbtksfc;e  (A) Rhizobium 

(B) lkbukscsDVj  (B)  Cyanobacter 

(C) ,tksVkscsDVj  (C)  Azotobacter 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

59. f}rh; fo’o ;q) ls igys dhV fu;a=.k ds 

fy, fdl jlk;u dk iz;ksx fd;k tkrk Fkk \ 

 
59. Before World War II, which chemical 

was used for pest control ? 

(A) fudksVhu  (A) Nicotine 

(B) cksfjd ,flM  (B)  Boric acid 

(C) Mh- Mh- Vh-  (C)  DDT 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

60. fuEufyf[kr esa ls dkSu&lh xSl Åijh 

ok;qe.My esa vkstksu ijr dks u”V dj ldrh 

gS \ 

 
60. Which one of the following gases can 

deplete ozone layer in the upper 

atmosphere ? 

(A) ehFksu  (A) Methane 

(B) veksfu;k  (B)  Ammonia 

(C) dkcZu eksuksvkWDlkbM  (C)  Carbon monoxide 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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